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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four sections — A, B, C and D. There are
35 questions in the question paper. All questions are compulsory.

(it)  Section A - Question nos. 1 to 20 are very short answer type questions,
carrying 1 mark each.

(iti) Section B - Question nos. 21 to 28 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C — Question nos. 29 to 34 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D — Question nos. 35 is map based, carrying 6 marks with two parts,
35(a) from History (2 marks) and 35(b) from Geography (4 marks).

(vi) Answers should be brief and to the point; also the above word limit be adhered
to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viit) Attach map along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Suggest any one way to maximize the use of nuclear energy in the field of
medicine. 1
OR
How can you conserve electricity at your school ? Give any one
suggestion. 1
2. Which one of the following industries uses bauxite as a raw material ? 1
(A) Cement

(B)  Aluminium smelting
(C)  Iron and Steel
(D) Chemical

32813 3 P.T.O.
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3. Which organisation is responsible for constructing and maintaining State
Highways in India ? 1
OR
Name the organisation that constructs and maintains the District Roads. 1
4, Suggest any one way to increase the participation of women in the
legislative domain of India. 1
5. Name the ruler of Prussia who rejected the German Constitution and
joined other monarchs to oppose elected assembly in 1848. 1

6. Name the oldest Japanese book printed in 868 AD with woodcut
illustrations. 1

7. Rewrite the correct statement : 1

India, Spain and Belgium are examples of ‘Coming Together Federation’.

OR
The Union Government as well as the State Governments can make laws
on State subjects like forest, trade unions, marriage, etc. 1
8. Give one technical term for the following statement : 1

“A person who is strongly committed to a party or group.”

9. Which one of the following options provides assured payment ? 1
(A)  Voucher
(B) Demand Deposit
(C)  Cheque
(D) Collateral

10. “Harita attends her office from 9:30 am to 5:30 pm. She gets her salary
regularly at the end of every month. In addition to the salary, she also
gets Provident Fund and other facilities as per the rules laid down by the
Government.”

Identify the employment sector in which Harita is working. 1

32813 5 P.T.O.
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11.

12.

13.

14.

15.

WTO establishes rules regarding international trade. WTO rules have
forced the countries to remove trade barriers. The reason could be

1
“Suppose the average income of a country is not being increased over
time but the records of the National Income show a rise.” What does this
situation signify ? 1
Who among the following leaders formed a secret society called ‘Young
Italy’ ? 1
(A)  Victor Emmanuel II
(B)  Giuseppe Mazzini
(C)  Count Cavour
(D)  Giuseppe Garibaldi
Arrange the following events related to the formation of nation-state of
Britain in chronological order : 1
I. Act of Union between England and Scotland.
II. English Parliament seized power from Monarchy.
III.  Ireland was forcibly incorporated into the United Kingdom.
IV.  Catholic revolt against British dominance.
Options :
A) IMII-I-II-1IV
B I-II-II-1IV
(C) IV-I-II-1III
D) IOI-I-IV-III
The was a region of geographical and ethnic variations
comprising modern day Romania, Bulgaria, Albania, Greece, Macedonia,
Croatia and Bosnia-Herzegovina. 1

OR
In 1815, Vienna Congress was hosted by the 1
7 P.T.O.

32/B/3



%%? et %ﬁ%‘?

16. dfcom wigd 6l AR @R q I8! d@ hM fhAT Fifh
| 1

17. 377 9 foiHTeh ol STHT ThHIehTUT k1 Si9eh of |1 T o ? fAefafga & @
& foehe 1 =[S 1

(A) 3G9 STt 3T HIE ok T TehIHUT TishaT o T TgATd =k hl |
(B) 35 ®fearfedi o 1Y Y sl WK Y i |
(C) 35 Tg-fAwior gishan § Ta7 37T en@mal sl Heg of |

(D) 9% QTS AHR UHIfesh fagHi ohl Th{deh MMEIad & [T |1 Teht
=T |

18. U™ aq Hfifd & fgior & Igar uiifedfahm aged sAw W & fou

HiTifereh & 1 foha Wfoera o & o7ufera © 2 1

19. Ffafigd Tam A 3R a7 B ¥ © 981 SIS 1 99 shifoie 1
ETHT A &7y B

(A SAfaET B — St g fomm

(B) TS T Wgd T —  HaTE Higel

(C) W =gl —  TAmR

(D) TR =™~ — B IR I FA@
20. TFHfAREd HIA! H & HiH-H T I kg T IR g ? 1

(A) O

(B)

(C) #Her

(D) St

.32/BI3 | 8



16.

17.

18.

19.

20.

The Belgium model of ‘Community government’ worked well because

1
Why was Otto von Bismarck considered as the chief architect of German
unification ? Choose the correct option from the following : 1
(A) He allianced with Italy and France for the unification process.
(B) He granted autonomy to Prussia with Conservatives.
(C) He carried the nation-building process with the army and the

bureaucracy.
(D) He carried Liberalist and Romantic scholars for cultural
movement.
How much percentage of forest area is desired in a geographical area to
maintain ecological balance as outlined in the National Forest Policy ? 1
Select the correct pair from the following Column A and Column B : 1
Column A Column B

(A)  Jyotiba Phule —  Istri Dharm Vichar
(B) Raja Ram Mohan Roy — Sambad Kaumudi
(C) Ram Chaddha —  Gulamgiri
(D) Gangadhar Bhattacharya — Chhote Aur Bade Sawal
Which one of the following crops is an example of Rabi cropping season ? 1
(A) Watermelon
(B)  Cucumber
(C) Maize
(D) Barley

9 P.T.O.
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SECTION B

21. Describe the role of public sector in the economic development of the

country. 3

22,  Self-Help Groups are the building blocks of organisation of the rural poor.

Suggest any three ways to make them popular for social issues. 3

23. Describe any three key features of federalism. 3
OR

Describe any three key features of Indian federalism. 3

24, Which are the two types of iron ore found in India ? Write two features of
each. 1+2=3

25. Read the sources given below and answer the questions that follow :

Source A — The Salt March and The Civil Disobedience Movement

Mahatma Gandhi found in salt a powerful symbol that could unite the
nation. On 315! January, 1930, he sent a letter to Viceroy Irwin stating
eleven demands. Some of these were of general interest; while others
were specific demands of different classes, from industrialists to

peasants.

Source B — How Participants saw the Movement

In the countryside, rich peasant communities — like the Patidars of
Gujarat and Jats of Uttar Pradesh — were active in the movement. Being
producers of commercial crops, they were very hard hit by trade

depression and falling prices.

32813 11 P.T.O.
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Source C — The limits of Civil Disobedience Movement

When the Civil Disobedience Movement started there was an atmosphere

of suspicion and distrust between communities.

(25.1) Source A - The Salt March and the Civil Disobedience

Movement

How did Gandhiji react to the Salt Law ?

(25.2) Source B — How Participants saw the Movement

Why did the rich peasants become supporters of the Civil

Disobedience Movement ?

(25.3) Source C - The limits of the Civil Disobedience Movement
Examine the limits of the Civil Disobedience Movement.

Describe any three ways through which women are oppressed in the
Indian society.

“Resource Planning is essential for sustainable existence of all forms of
life.” Support the statement with examples.

OR

Explain with examples, the ways to solve the problem of land
degradation in the Himalayan region.

Examine the steps taken by the British under the Vernacular Press Act,
1878.

SECTION C
Describe the role of political parties in Indian democracy.
OR
Describe the necessity of political parties in democracy.

“Tourism in India provides large amount of employment and promotes

national integration.” Justify the statement.

5
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31. Read the following extract and answer the questions that follow :

Democracy stands much superior to any other form of government in
promoting dignity and freedom of the individual. Every individual wants
to receive respect from fellow beings. Often, conflicts arise among
individuals because some feel that they are not treated with due respect.
The passion for respect and freedom are the basis of democracy.
Democracies thoughtout the world have recognised this, at least in
principle. This has been achieved in various degrees in various

democracies.

(31.1) Why does democracy stand superior to any other form of

government ? Explain. 2

(31.2) Why is the passion for respect and freedom the basis of

democracy ? Explain with examples. 3
32. Explain the impact of Globalization with examples. 5
OR

“Rapid improvement in technology has stimulated the globalization

process.” Explain the statement with examples. 5

33. Explain the impact of the Great Depression on India during the early

twentieth century. 5

OR

Explain the impact of Industrialisation on the Indian weavers during the

eighteenth century. 5

34. “Different people have different developmental goals.” Support the

statement with examples. 5

32813 15 P.T.O.
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35. (a)

(b)

SECTION D

Two places A and B are marked on the given political outline map
of India (on page 19). Identify these places with the help of the
following information and write their correct names on the lines
marked near them : 1x2=2

A. The place where Jallianwala Bagh incident took place.
B. The place where Indigo Planters started the Satyagraha.

On the same political outline map of India locate and label any four
of the following with suitable symbols : 1x4=4

(i) Meenambakkam — International Airport
(i1) Hyderabad — Software Technology Park
(iii) Vijayanagar — Iron and Steel Plant

(iv) Tarapur — Nuclear Power Plant

(v) Hirakud — Dam

(vi) Kochi — Sea-port

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 35. Attempt any six questions :

(35.1)
(35.2)

(35.3)

(35.4)

(35.5)
(35.6)
(35.7)
(35.8)

Name the city where Jallianwala Bagh incident took place.

Name the place where Indigo Planters went for Satyagraha in
1918.

Name the place where the Indian National Congress (INC)
session of September, 1920 was held.

Name the State where Raja Sansi International Airport is
located.

Name the State where Bhilai Iron and Steel Plant is located.

Name the State where Tarapur Nuclear Power Plant is located.

Name the State where Paradip Sea-port is located.

Name the Software Technology Park located in Telangana. 1x6=6
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